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QUESTION 1

Which of the following routers can initiate SFT switchover on a PIM-SM network? (Select 2 answers)
A. Last-hop router

B. Intermediate router

C.RP

D. Sourcel\'s DR

Correct Answer: AC

QUESTION 2

The unicast and multicast technologies are both outstanding in solving the problem of "single source, multiple
destinations" in order to allow efficient P2MP data transmission.

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 3

Which of the following elements together uniquely identify a LSA? (Select 3 answers)
A. LS type

B. Link state ID

C. Advertising Router

D. LS Sequence number

Correct Answer: ABC

QUESTION 4

Only Router-LSAs and Network-LSAs are involved in intra-area route calculations.
A. TRUE

B. FALSE

Correct Answer: A
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QUESTION 5

Which of the following statements are true? (Select 3 answers)
A. The neighbor state can transition from "Down" to "Exchange".
B. The neighbor state can transition from "Down" to "Init".

C. The neighbor state can transition from "Init" to "Exstart".

D. The neighbor state can transition from "Init" to "2-Way".

Correct Answer: BCD
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